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Question Number : 1 Question Id : 1017174801 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following lists

List-1
A) Convolvulaceae
B) Rosales
C) Mangifera
D) Insecta
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The correct answer is
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List-1I
Dicotyledons
Arthropoda
Anacardiaceae
Polemoniales
Monocotyledons
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Question Number : 2 Question Id : 1017174802 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct statement from the following

I)  Rhodophyceae cell wall is made of cellulose, pectin and algin
I) Marchantia disperse spores by pseudoelaters

IMT) Dryopteris shows circinate vernation

IV) Primary endospermic nucleus is triploid
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Choose the following characteristics found in Noctiluca:
A) Bioluminiscence

B) Prokaryote

C) Proteinaceous cell wall

D) Cell wall with cellulose plates

E) Chromosome without histones

F) Eukaryote

G) Longtudinal bmary fission
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Question Number : 4 Question Id : 1017174804 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Find the correct statement

A)  Moss plant 1s found in cool damp and shady place embryophytic. archegoniate and
vascular in nature.

B) Majority of red algae are marine and found in deep waters as well as shallow areas

C) Algae constitute the half of carbondioxide fixation on earth and also form the basis
for food cycle

D) In Gymnosperms the transfer of pollen to the stigma of the Gynoecium in the
megasporophyll is called direct pollination
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Question Number : 5 Question Id : 1017174805 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Numerically identify the given group of plants based on fruits formed from the entire
inflorescence and type of indehiscent fruits types respectively

Custard apple Tridax Pine apple Cashew nut Rice
Jack fruit Beans Acacia Datura
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Question Number : 6 Question Id : 1017174806 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A Flowers are brought to the same height though they born at different nodes

B : Sessile unisexual flowers arranged in acropetal succession

C : Presence of involucre

Based on above inflorescence characters A. B and C plants are respectively identified as

A ©50 D IIE Se0HO HE Haen ﬁd@)&)o{oé%éﬁ @30 28 JKS® GIow
B ord>rd Sps6ird I8dors Haryen

C : H058 QITHO $500330083:&0

A. B $0805n C 3o 2 HADogd oferre sprdormr SEOdm $0owhsn

Options :

@ collegedunias
India’s largest Student Review Platform



Carrot. Cauliflower. Colacasia
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Carrot. Colacasia. Cauliflower
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Cauliflower. Carrot. Colacasia

50258, 52685, Fosdhatr
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Cauliflower. Colacasia. Carrot
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Question Number : 7 Question Id : 1017174807 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following

A)  Apomicts donot have the evolutionary advantage of sexual reproduction

B) Apomictically produced off springs are genetically identical to parent plants
C) Apomixis is a form of sexual reproduction

D) Apomixis is an assured reproduction in some species of Solanaceae

Find correct statements.
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Question Number : 8 Question Id : 1017174808 Display Question Number : Yes Single Line Question Option : No Option
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Find the wrong statements among the following:

A)  Seeds of groundnut and bean are nonendospermic

B)  Stomium is useful for the development of pollen tubes in suitable medium
C) Tageticula helps i pollination of Amorphophallus

D) Seeds have to be dehydrated to raise the next season crop plants
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Question Number : 9 Question Id : 1017174809 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the lists
List-1 List-1I List-III
A) Microsporogenous tissue 1)  Diploid I) Pollengrain
B) Endothecium 11)  Triple fusion II) Microspore mother cell
C) Generative cell 111) Pollen chamber II) Tuploid
D) Secondmale gamete 1v) Haploid IV) Dehiscence
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Question Number : 10 Question Id : 1017174810 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Match the following lists

A)
B)
0)
D)

& §od ;HeEoN 2850 WSD

A)
B)
C)
D)

List-1
Monocarpellary ovary

Apocarpous ovary
Syncarpous ovary
Tri carpellary ovary
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The correct answer is
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List-1I
Papaver
Dolichos
Allivm
Michelia
Abutilon
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Question Number : 11 Question Id : 1017174811 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the correct description of the flower in general and 1st and 3rd whorl of flower based
on the diagram illustrated above.
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Bracteate. ebracteolate. pentamerous. bisexual. Gamosepalous. twisted aestivation.
stamens 5. epipetalous
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Ebracteate. ebracteolate. pentamerous. bisexual. polysepalous. imbricate aestivation.
stamens 5. epiphyllous
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Ebracteate. ebracteolate. pentamerous, bisexual. gamosepalous. valvate aestivation,
stamens 5. monoadelphous
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Bracteate. ebracteolate. pentamerous. bisexual. polysepalous. imbricate aestivation.
stamens 5. epipetalous
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Question Number : 12 Question Id : 1017174812 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a megaspore mother cell of Pisum Sativim undergoes meiosis. the ratio of no. of
chromosomes and chromatids in different phases of cell division 1s

*  Chromosomes in Metaphase I

*  Chromosomes at one pole of Anaphase I
*  Chromatids at one pole of Metaphase II
*  Chromosomes in Anaphase I
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Question Number : 13 Question Id : 1017174813 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following table

A) Peroxysomes Glyoxysomes Microbodies
B) Flagella Peripheral Microtubules | 9 pairs

C) Cytoskeleton Eukaryotic cell Cell motility
D) Chromoplastids Carotenoid pigments Water soluble
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Question Number : 14 Question Id : 1017174814 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Match the given bonding groups and their respective bond.

List-1 List-1I
[Bonding groups] [Bonds]
A) 2C-atoms of adjacent monosaccharides I) Ionic bond
B) Carboxyl and amino group of two aminoacids M) Hydrogenbond
C) Twonucleotides II) Peptide bond
D) Phosphate and hydroxyl group of sugarin DNA  IV) Ester bond
V)  Glycosidic bond
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The correct answer is
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Question Number : 15 Question Id : 1017174815 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Match the following

List-1 List-1I List-1II
A) Metabolic pathways I)  Abundantprotein i) Biologically active
proteins
B) Metabolism O) Criss-Cross and i1) Animals/plants
dynamic
C) Collangen/Rubisco Hollow 1n nature 111) Mechanism for
energy production
D) Tertiary structure of protein | IV)  Cannot reach iv) Catalysed
equilibrium reaction
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The correct answer is
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Question Number : 16 Question Id : 1017174816 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the given aspects shown by a DNA molecule having length 544 A and 40% cytosine.

List-1 List-1I
A) No. of turns ) 128
B) No.ofH, bonds o 318
C) No. of pyrimidines oI 368
D) No. of phosphodiesterbonds  IV) 16
V) 32

544 A 2635 $060350 40% D o DNA 20009S°0 & 1808 20770l 2dHdE080
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The correct answer is
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Question Number : 17 Question Id : 1017174817 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose wrong pair from the following

A) Theodore Schwann Animal cell plasma membrane

B) Vesicles. lamellae. tubules  prokaryote contain pigments

C) Phosphate granule Eukaryote Lysosomes

D) Nucleosome Eukaryote DNA packaging in nucleus
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Question Number : 18 Question Id : 1017174818 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct series of tissues showing the following

A) Highly thickened spherical dead cells with lumen

B) Spherical cells with chloroplasts without mtercellular spaces

C) Longtudinal cells. without nucleus. large vacuole and peripheral cytoplasm

D) Elongated cells with thick lighfied walls and have variable thickenings with mner layer.
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Sclereids. Parenchyma. Fibres. Albuminous Cells
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Question Number : 19 Question Id : 1017174819 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct statement from the following.

(I) Hypodermis is sclerenchymatous in monocot stem where as collenchymatous in dicot
stem.

(I)  Vascular bundles are scattered in monocot stem where as arranged in a ring in dicot
stem.

(IIT) Vascular bundle 1s surrounded by collenchymatous sheath in monocot stem but by
sclerenchymatous sheath in dicot stem.

(IV) Phloem parenchyma is absent in both monocot and dicot stem.
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The correct answer 1s
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Question Number : 20 Question Id : 1017174820 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

@ collegedunias
India’s largest Student Review Platform



Identify wrong statements regarding hydrophytes and xerophytes

Hydrophytes Xerophytes 1
A Rootcaps Present Well developed
B.  Epidermis Thin and do not contain chloroplasts | Thick and have chloroplasts
silica crystals
C. Leaves Well developed xylem Single layed epidermis
D. Stomata Upper surface Lower surface
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Question Number : 21 Question Id : 1017174821 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Two potato pieces Aand B weighing 5 grams each were soaked in 0.1M and 0.5M sucrose

solutions respectively. After an hour “A’ weighed 5.5 grams and B 4.5 grams. Reasons for
the change in weights of Aand B.

A)  Chemical potential of water is high in A than B
B) Osmotic potential 1s high in B than A

C) Turgor pressure is high in A than B

D) Pressure potential in *A’1s ‘O’
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Choose the correct answer
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Question Number : 22 Question Id : 1017174822 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Find out number of protons. electrons. and ATP molecules required and no. of ADP

molecules released for the formation of 136 Ammonia molecules by symbotic N, fixation.
based on the equation given below.

68N, + H* + e+ ATP — 136 NH, + 68H, + ADP

& (80D RBBD 85 SFHT HSEBA DD DArET0 ®HH00N 136 wry0r weadHen
Ddﬁ:)c’soéa& 5D (FFETreD, ae)@jﬁm, ATP 58050 &’)céocée)dﬁag ADP =a0den Ddopged
ED0ACHBW.

68N, + EE+: g+ ATP— 136 NH, + 68H, + ADP

Options :

| 272. 544, 1088, 544

544, 544, 1088, 1088
544, 272, 544, 1088
- 1088. 1088, 544. 544
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Question Number : 23 Question Id : 1017174823 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Find the incorrect statements

A) Malonate inhibits the succinic dehydrogenase action as a competitive inhibitor

B) Enzyme that catalyses peptide bonds, C-halide bonds and P-N bonds are called lyases
C) Thermophilic organism show thermal stability

D) The difference between average energy content and that of the transition state is called
transition energy
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The correct answer 1s
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Question Number : 24 Question Id : 1017174824 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Correct sequence of electron carriers in modern photosynthetic electron transport

08 §deady HoDrd 805 JOFD TS’ IOFS TIrse HOFD S (EH0S0

Options :

| Hy0 - Chlggy — Pheo — PQ — Cyib f — Pygg — FD — FNR
H>0 — Fggy — Pheo — Cytby — PO — Cyif — Py — FD — FNR

- H,0 — Fggq —> Pheo — Cytbg — Cyif — PO —> By — FD — FNR
, H20 — Pyog = FND — Pheo —Cyths — Cytf — Fggo — H,0

Question Number : 25 Question Id : 1017174825 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct match

List-1 List-TI List-IIT
A) Lightdependentreaction | 1) Sugarsare not I) CO,absorption
synthesied
B) Photorespiration 11) KOH ) CO, reduction
C) Lightindependentreaction | iii) Photolysis of water | III) O, competes with CO,
D) Half-leaf experiment 1v) Synthesis of sugars | IV) Reduction of NADP

HOGHN 2S5 HJowBw
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The correct answer 1s
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Question Number : 26 Question Id : 1017174826 Display Question Number : Yes Single Line Question Option @CQ"egEdleaé
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Study the given table showing Kreb’s cycle reactions and choose correct pairs

A)
B)
C)
D)

Reactant

Oxalosuccinic acid
Succinicacid
Oxaloceticacid
Isocitricacid

No. of C
in end product

4
5

(@)

Type of reaction

Decarboxylation
Dehydrogenation
Condensation
Oxidation

& 808 HEPES® NS B S005rA8 Ho20HONS HTgOD wEgoHSo T KPS Bs
2 52)8° 300

A)
B)
C)
D)

Options :

Bosradsten

wE e H§AE wno
J§us0
w5 8RS 80

DRSO

1. AB

, B.C.D
, AB.D
. A.C.D

wodg &S0

Cwmndeo Hopg

5

IJ] _h

(o))

dmgdéo

A5 on§BAS
TRERIAS
a_
Do 0

2§ 86800

Question Number : 27 Question Id : 1017174827 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Arrange the given list of processes that constitute the development of cells in higher plants
i1 correct sequence.

H0EB8 DoHS F0E) S°A Koo wHIB Ho0d HEe (B0 JFBoWrgow. 57D HOFS
I B300e° wd)odk.

A) Senescence

aﬂgégo

B) Elongation

MTeTef)

LeA

C) Maturation
50HES

D) Differentiation
JBEBK0

Arrange the above in a correct sequence

2 8 JDS 1E500e5® wSE)H0

Options :

. B.C.D.A
, A.C.D.B
, B.D.C.A
, AB.D.C

Question Number : 28 Question Id : 1017174828 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the wrong statement

38570 woFo Qéoﬁ"éaé)s

Options :

.
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The meristamatic cells are rich with protoplasm. Increased vacuolation makes the
cell to enlarge.

Deed Do Seres® &5 Hordo wHBOM Hotod. 688wy I8y ST Ddo)cééoo S0
$£0065° Bgg SHB $IDD0H

In the nitial stages of development zygote shows arithmetic growth where as apical
region of shoot shows geometric growth

Hoasng N0 @rEof JewSY wosHE HEONEY BrYP, 57 sToEHSNS
S)B ergnGon DAHHE $FS IrHS

(&

Sigmoid curve is observed in plants growing in natural conditions.

Jire TE 5000 DIN NG S* DTONE SE0P SIDH0H

The relative growth rate is also referred as efficiency index
Fof DOHEL BEnd Fody Hosson Srm 87 S5

Question Number : 29 Question Id : 1017174829 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(A) Areplica of genophore 1s donated to recipient by donor during Bacterial conjugation.
(B) Time taken for transfer of donor DNA to recipient bacterium is called generation time
(C) True sexual reproduction is absent in bacteria

(D) DNA components of bacteria can detect biologically active toxic pollutants

(A) er§0osren HoosM) H50090e5° EFFE SEe S S50 Sod Herd S50
Q308000

(B) o $m0 508 DNA & (ferssy S6305008 HE) §7erd) et 5700 wotr®d

(C) er§ooires® d2dd Bons Wy B

(D) =r§oosre DNA wihdsersen #5§05rsodid IArdd sendy 565 ol
o80T,

Identify incorrect statements from the above
2 TS° BT argwgei HYowraEmw

Options :
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, AB.C.D
. AB.D

Question Number : 30 Question Id : 1017174830 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Measles virus and bacteriophages possess following characters

o
Options :
Glycoprotein without spikes and Helical symmetry

5rd) nsen B FERWS 00k d0ye FHS0
i 2

26D $H00I0 rEOBrIE & od ogrold §8A eokd

=
\
o)

Glycocalyx and Helical symmetry
NEBOF 50050 B0ye FYRS0

Lo

Spikes and Spherical
g SrO30nden $0050 H8y® TS50

Glycoprotein with spikes and complicated structure

ErO3NIOS® EraAS NEE@ES Hdosw Hofh doryearen
4 & i

Question Number : 31 Question Id : 1017174831 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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If around seeded (BB) Pea with large starch grain was crossed with wrinkled seeded (bb)
pea with small starch grain. Find the true reasons for F; off springs showing round seed
(Bb) with intermediate starch grain

Following true inferences are drawn from the above cross

A) A single gene product may produce more than one effect

B) For the shape of seed gene shows dominant recessive relationship
C) For starch synthesis gene B shows incomplete dominance

D) Itisanexample for co-dominance

Mo dgaren (BB), D Hoddenden $OAS el g Souddennds (bb) D&
20600 DI el I S* Jo8d00 20808. Fi 088 Hogd dgen (BD)
So0050 HoEgRoM €8 HokdmHen IFHEE TV s°CeTren HYoTOE.

2 D000 sprdorr & (§oh I8 @SNt HYowSN

A) a8 adg &850 w88 $0B 5 S Perarod Soor TRod

B) Jdoo sHB8 a2y 2ordd (sh8g8) wodds Somodo S

C) %odk AT 0332080 B esdodrd atrddgetd) Sradod

D) a8 &5 2rdddi038 &8 aoirdn

Which of the above inferences are true
2 aredes® HBGHN wAoen

Options :

. AB.C.D
3. B.C

, B.C.D

Question Number : 32 Question Id : 1017174832 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Aprotein has been synthesized according to the sequence of nucleotides presented below.
AUGACGGCAGACAGAUGA

Identify the correct sequence of nucleotides of DNA that help in transcription of the protein.

Bod SrHE Sr§BrBhen SHBESSD Hod @SS HoFnoSwASs
AUGACGGCAGACAGAUGA

& (@ED5 TESH ©5B8pdsnes”® o) DNA §@ad 5070 H0@08 S6dE5m) Mhgowd

Options :

, TACTGCCGTCTGTCTACT

, ATGAGC GCAGCAGGTTGA
, UAC UGC CGU CUG UCUACU
, ATGACGGCAGACAGTTGA

Question Number : 33 Question Id : 1017174833 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A scientist has selected a ds DNA molecule with 1700A° length for his experiment and

deleted 20 coils from the total DNA length. In the remaining molecule 20% of Adenine 1s
present. The ratio among the followmg 1S

A) Total no. of nucleotides deleted before conducting experiment
B) No. of Guanins present in the experimented molecule
C) No. of Thymines present in the experimented molecule

.8 TR S5 HArro 590 1700A° &4 o ds DNA & &80 20 SHgyod ango
DNA $50%) Sohod) HErmas T @83, HAS® 20% «adsS . & $od 78 Dy

oy A

(JOJQ
A) PBRrTIE 3ot Fofodads Srgfdrdlke Dowg

LG9

B) H3r8 @035 midde HBopg
C) PIrH @0HS*D BIJ Hopg

Options :

. 20:9:6
, 20:6:9
; 10:9:6 @collegeduma



4 10:6:9

Question Number : 34 Question Id : 1017174834 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill up the blanks with suitable words.
Heavy DNA molecules synthesis by mediumhaving A

DNA B  processhaving C  density graidentas D
1sotope.

can be distinguished by normal
1s not a radioactive

§0b T850e5*0 PrPodd HOFS HTeeS® HrooPod.

o6 DNAwendd A Horgo e oirdsos® 2660w 630 _ B

C__ Sordod §00 Jrold g oo° 100l SorEds s°6akn D  &de

laihelok

088 B oY

Options :

A B C D
N Centrifugation Cesium Chloride PNH,CI
BN wHsodEGe pdo%o §B& BNHLCI

l.

A B C D
>N Cesium Chloride ~ Centrifugation NH,CI
e dboho §08s w5soH86e BNH,C1

A B € D
PNH,Cl Centrifugation Cestum Chloride BN
NH,C1 w580 5808 ado%o §08 PN

A B C D
BNH,C1 Cesium Chloride Centrifugation BN
SNH,CI poso §B& w580 HECD BN

Question Number : 35 Question Id : 1017174835 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Find the correct statements

A) Inachromosome a specific DNA sequence called ‘Ori” where an alien DNA is limked
and multiply

B) To link the alien DNA vector needs single recognition sites for the restriction enzymes

C) When cut by the restriction enzymes the resultant DNA fragments have different kind
of sticky end. so that they can be joined together by DNA ligase.

D) The definition for Biotechnology is the integration of natural science and organism.
cells. and molecular analoges for products and services

Bod e HOGE woFen HGoWIHM

A) 28 JeréaH DNA 9od5» o0 F0E S0 D33 60 $0085° ‘O & 800553
3G Bocheron

B) &0o$Q05 DNA & 2456508 rsrdgon 2.8 ORES ISR 28 80D Ld0
80 JrSTR)) ar@edd

C) B@QS AIBS® §800SwAES DNA poderen JFoqs @& 3 §Sen §00,
s B0 DNA 3A& oo @8d05°850 BoSSwy

D) e.‘aéfs‘@o 500030 £IH© SSrES0, Segren, 770 rETYO0 SHHTEN e NGNS
DADTH0NE NN £ FoSHES T dEgSSomr BHNY)

Options :

| AB.C

BECD
, AB.D
. ACD

L2

Question Number : 36 Question Id : 1017174836 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Observe the given PBR322 yector model diagram and identify A. B. C. D coding regions
respectively.

§06s D8geds PR32 5k SSorar B0 650009, A, B, C, D %084 3d7ed Shdm

280050
EcoRI

- ‘}
Q\n

Options :

| ori, amp®. tet¥, rop

, ampX. tet®, ori. rop
: padB oo R o

, ori. tet®, amp®. rop

ori. rop. tetk. amp®

4=

Question Number : 37 Question Id : 1017174837 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following incorrect statement 1s

& (00 D057 2o7Q) HJowWIBP
Options :
Bt toxin is activated due to alkaline pH of insect gut

8080 wH)rirge®d) oo e pH 59 Bt ér§)d §osried ohd
A and B nucleotide chains corresponding to human insulin are produced in E. coli
through plasmid vector
IrJS adYOI% HogHhS A Ho0sw B @zl goo Fooden s sise
oqo” E. §'8¢° )8 Dohadston
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Gene silencing is made by using sense and antisense DNA strands which bind to mRNA
MRNA & ao0§ogos® o ) 003 odrotdnr) DNA SFSodHddBrfod
25Nl I

In gene therapy. normal genes are inserted into persons cells or tissues to compensate
non functional gene

adrg DEHS® 5g8 008, S0 B Sererod JEy,05° 2yl FSoS* Fde
380898 PAFDESEH

Question Number : 38 Question Id : 1017174838 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct combination

I) Wheat —  Himgiri —  High yielding

M) Wheat —  Sonalka —  Disease resistant
IT) Flatbean —  Pusasem?2 —  Aplud resistant
IV) Clhalli —  Pusasada bahar - TMV resistant

H00DS woFoH HYoLDIN

D /¢S = ite) - wHE HHad
) /oS - &0 -  Jg0 JATEES
I) 3Jeny DEYE — I D02 - D& AEPES
IV) 2565 - I doradrd - TMV 08° 58
Options :

, LILIO

, LILIV

; LIOLIV

. LILIV

Question Number : 39 Question Id : 1017174839 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the incorrect statements

A)  Trichoderma and baculovirus are biological control agents of plant pathogens

B) The use of Biocontrol methods will greatly increase the dependance on toxic chemicals
C) Methanogens helps in breakdown of cellulose for the generation of biogas

D) Salinity tolerance and resistance to root borne pathogens can not be associated with
symbiotic fungal association

50570 @oFTOH INEFHS0

A) S)Eargdoe £S5 JodoEnd® FSE0T 0 00w erEgesIddes sTEsTeum
€GO EET0N

B) #£5 dohHolssen DGO T EE0 DAY OE CPONT O JBY T ST EHEIOD 5306

C) NETBEY DeoogsED DKo DBosws Sob p@EFTED HEHF0 VH

D) 3y d8D LEFHL 508050 IHSD® TLHBSE IEEE 9§ w3 3doEE
STrTTrod Ho2060 § JHokd.

Options :

. AB
, GD

, B.D
. AD

Question Number : 40 Question Id : 1017174840 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A): Dough used for making bread is fermented by using Saccharomyces
cerevisiae.

Reason (R): Saccharomyces cerevisice 1s called bakers yeast and brewers yeast

3o (A): SAVS DoBJ HooKHBD FFPeom SABrOBNEIE TP P OD
DOIHTS EHBTATED.
5762030 (R) | #76°DdD DOIHALD BEY) 67 00050 @rsf) &Y wotr®
Options :
(A) and (R) are correct and (R) 1s the correct explanation to (A)

(A). R) o0 5952 $:8050 (R) 9588 (A) $ 595 9562
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(A) and (R) are correct but (R) 1s not the correct explanation to (A)
(A). (R) eo #8852, 570 (R) 90858 (A) S0 588 25680 575

(A)1s true. (R) 1s false
; (A) 5058, (R) 5086 57

(A) 1s false. (R) 1s true
) (A) 5058 57680, (R) 5056

Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 1017174841 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Mamtenance of relatively constant internal conditions which are different
from that of surroundings 1s called homeostasis.

Reason(R): Living organisms maintain constant internal environment by various
physiological adaptations.

Do (A): 0BT ST Srane D)8, dhHe Tros® FE 6 wSEd
FITRoBEY) HYS (homeostasis) =oerd.
5°62am (R): #en wI§ 906 ¢6) vdsrose oo Q6 086 w56e97Q) FSTAT00.

Options :
Both (A) and (R) are true. (R) is correct explanation for (A)

;. (A) 508050 (R) o0 3863082, (R) @886 (A) % 58508 dHde.
Both (A) and (R) are true. (R) is not correct explanation for (A)

5 (A) 508030 (R) 20 9863089, 570 (R) @588 (A) & D8508 D56 57650,
(A) 1s true but (R) 1s wrong

, (A) 205088, 570 (R) HO@SE ¢
(A)1s wrong but (R) 1s true

, (A) 30G036 5765, 520 (R) HOGSH.

.
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Question Number : 42 Question Id : 1017174842 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Options :
Assertion (A) : Cardiac muscle is described as a functional syncytium.

Reason(R):  The intercalated dises of heart muscles contain tight junctions which are
responsible for rapid conduction of impulses.

AHFo (A):  FySodH Sodord) BoITE S BN Wordd
523200 (R): 505 Sodsoe® €08 wodd JHomroHd Siffen HINHY Dohed O
&0Q DT ET D &dgon 5 n0wEoey” JFPahDNES 0w
Both (A) and (R) are correct and (R) 1s the correct explanation to (A)
(A) 08050 (R) &0 $833080, 08050 (R) @88 (A) 8§ 585308 D568,

—

Both (A) and (R) are correct but (R) 1s not correct explanation to (A)
(A) 508050 (R) en $5863082, 520 (R) 25088 (A)  H06308 J38e s,

(A) 1s correct. (R) 1s incorrect
, (A) 20888 (R) 50056 5°65.
(A) 1s wrong. (R) is correct

, (A) 30356 5. (R) 30g056.

Question Number : 43 Question Id : 1017174843 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Read the following regarding cellular junctions and specializations

A) Tight junctions prevent leakages of body fluids.

B) Keratin filaments anchor desmosomes in inter cellular space.

C) Communicating junctions comparable to plasma desmata of plant cells.
D) Stereocilia are short and motile structures seen in internal ear.

geadochen, HBgESen MHBod) §od woTeid wigohdo DobHobm

A)  DHHDBoBen FE Gy sEE0E I HIT00

B) 30638 dgodHhJen BFFOOE §97040 9I5TeS” 00t S8 HAToS0S
C) JSrad doen INGH OGN FIFB TS FEAS

D) wod6 BOS'Y QODBrROSren Y, Fod ¥§ 04 trotron

Identify the correct statements
30 wond argmpgod MHBowiHwn
Options :
. A&B
, B&C
- AEE
, A&D

Question Number : 44 Question Id : 1017174844 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following
Cells

A) Choanocytes

B) Cnidoblasts

C) Flame cells

D) Lasso cells

8ol 70 2EHEWSN

gegeen
A) ?oﬁrﬁsjgéog
B) &o¥ Seoven

C) axeor Sworen

D) eraF Scorew

The correct answer 1s

Options :

@ ® ©

IV I 4

@A @ ©

A  ® (©

Aa @ (©

% ' I

(D)

(D)

(D)

(D)

zg8°

D

Organism
Pleurobrachia
Adamsia
Lepisma
Sycon
Schistosoma

)
Spo@Eosr

)37l O3
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Question Number : 45 Question Id : 1017174845 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the following statements

a)  Body cavity of Hirudinaria contains botryoidal tissue
b)  Tubifex is an oligochaete that lives in fresh water

¢)  Clitellumis absent in unisexual annelids

d) Larva ofleeches is trochophore

8od wozren wigohdo DabHodk

a) OAIGOr Birdrdod® SEosrondS S0ere0 wolnod
b) 20R8irss BodS gD DE) H0AVLS® ISVIT €0e00s
C) 8$Tohs wIDEOS® FBYO o

d) =2eofe &ogfo TSP

The correct statements are

F WoT 0T’ c“agé e 0F00(en)

Options :

L,

-

3

4

a.d
a.b.c
b.d
~b.c.d

Question Number : 46 Question Id : 1017174846 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In reptiles. this region of vertebral column contains only two vertebral.

DOV IS8 Doy §IhETen ST od @Wroko

Options :

.
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Sacral
, &8
Cervical
, B

.
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Question Number : 47 Question Id : 1017174847 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following

Scientific Name Common Name Character
A Torpedo Electric ray Ventral muscles are modified
mto electric organs
B Ptyas Rat snake Non poisionous snake
@ Struthio camelus African ostrich Syrinx is present
D Belanoptera Blue whale Right systemic
arch 1s present
Bod 70 wgaHdo BasED
s‘@oﬁamipo FSrSg TS0 0§20
A &0y &° DgS B3 @50 Sodoren HgS
VHORT VT DTG VOIS~ 0N
B &ropd o¢5 )8 DAGrS D)o
2 @Brédr s=Led B@ES BRS FQQ €v00ol
D BoS H0 QO oo S0 Bar8 T7H0 €r0LN0d

Among the above the correct combination(s)

DrAS” HOGS #°RoH MHfododk
Options :
; A&B

.
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, B&D
. A&C
.

Question Number : 48 Question Id : 1017174848 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following

Pseudopodium Examples

A) Lobopodia I)  Elphidium

B) Reticulopodia ) Actinophrys

C) Filopodia Il) Polytoma

D) Heliopodia IV) Entamoeba
V)  Euglypha

8ol TAD 2EHE TSN

Samﬁgé)ﬂdo L dakPeElefe)

A) S FxdoN0o I) 062)630500

B) =8 dgrgaroren ) 285705

C) &oHhorsd Dprgaroren ) Ordes s

D) OB rdFaosr IV) Qoédrdoer
V)  oper

The correct answer 1s

HOTE BSTTHES0
Options :

@a@a ® © O

W \% I
@A @ © (@D

s ¥ 3 W

;
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o L) I V IIT
A ® © @)

s N I V I

Question Number : 49 Question Id : 1017174849 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The following drugs are used in sleeping pills.

1§08 SrEsBargl) AGBSITEOS” &HBTrHRD
Options :
Barbiturates

ARTAVICeLR]
Amphetamines
20D EITO)
Benzodiazepines
BoF doire )

Cannabinoids

griTond)

Question Number : 50 Question Id : 1017174850 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Excessive doses of cocaine cause hallucinations
Reason (R):  Ithasa potent stimulating action on central nervous system

A3yBo (A): whHE o’ijcﬁa@j §8Q [@r088 570200 wH&ETow

s*6edn (R): 26 Sogard $g5558 F§Sodom @BH06
Options :

Both (A) and (R) are true. (R) 1s correct explanation for (A)
] (A) 508050 (R) en 385089, 508050 (R) @888 (A) 85 50508 HS50e.
Both (A) and (R) are true. (R) 1s not the correct explanation for (A)
, (A) 208050 (R) en 383089, 570 (R) 98088 (A) 8 D300 DSk @couegEduma
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(A) 1s true. But (R) 1s false
, (A) 305088, 0 (R) 9050886 5.

(A) 1s false. But (R) 1s true.
i (A) 3833088 57, 520 (R) H053086.

Question Number : 51 Question Id : 1017174851 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In erythrocytic cycle of Plasmodium vivax. the following stages are observed.
a) Rosette stage

b)  Trophozoites

¢) Amoeboid stage

d) Signetring stage

e) Liberation of erythrocytic merozoites

f)  Shuffner's dots in RBC

FF)Boho Jor§) BE), 088w L8 SFE0S” $od SFen oéron
a) o8BS ¥

b) rdRSe

c) @derond &%

d) worh¥y &5

€) DEEE WFBE I

f) RBC &* 55 Senhen D)k

Arrange them in correct sequence
& S0 08 IODHED0S° wdoh

Options :

, b.d.f.c.a.e
5 0,0, & E8,e
Jeatedb
.. Bd 0 6 a

il

Question Number : 52 Question Id : 1017174852 Display Question Number : Yes Single Line Question Option @collegedunias



Orientation : Vertical
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Read the following statements

A)  Cocame interferes with neurotransmitter dopamine and causes depression
B) Nicotine raises the blood pressure and heart rate

C) Cannabinoids show their effects on cardiovascular system

D) Morphine acts as a sedetive and pain killer

8o argpgodd SES0dk

A) F35 &GOS 93 ok wPHIIES S50 FFD HoMHEOS DA
B) 98 gEend, ok Bend wHs0 B0

C) sordoonden HBoo, ©Hddn SFIYO D RDErard) BTN

D) 5578\ Sk, erp° Jarded oo HAGBTALE

Correct statements are
HOGHG argmgen

Options :

. AB&C
. B C&ED
; AB&D
., A.C&D

Question Number : 53 Question Id : 1017174853 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the Incorrect statement regarding cockroach

B°Q08 00D BBFA TPG Moy

Options :

The claws and the arolium help in locomotion on rough surfaces
Sgren Hdahn w6doHo (KE 007 Hhdos® éscégc%@”on

Plantulae are useful in locomotion on smooth surfaces which are located on tibia of
legs

$i05) S0 HDHdoe® SE\A rotngeren ¢ B0, SHSFD Wi

[

.
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Mycetocytes contain symbiotic bacteria

DT DIrESS er§Oosrd $OA Eodron
3. o

Stomodeal valve secrets peritrophic membrane
, P0ETDS gglosh wgBng Sae0 D00

Question Number : 54 Question Id : 1017174854 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following
Cells of fat body Function
A) Trophocytes ) Store uric acid

fed

B) Mycetocytes IT) Synthesis and storage of lipids
C) Oenocytes IT) Storage of urea
D) Urate cells IV) Storage of food
V)  Store symboitic bacteria
808 TrAQ 2SHRTDL
TH(BT Segren DG
A) EroDinen D) 0oHrdsSra) densd BoHeo
B) odHest e ) &5 Sozae, Jend
C) &SDtow o) ocHrdosH Jens Woho
D) 0%078¢5 Searen IV) &3%0 dend doHhéro
V) {35E58 ergﬁot’uc‘&) 80 eroddo

The correct answer 1s

DBGDS JIrerSn

Options :

A B € (D
I NV I

@a ® © O
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A @ © O

I\ I Vv I
A ® © O

ML L 'd I I

Question Number : 55 Question Id : 1017174855 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the incorrect combination about nitrogen fixation

-~

S@ad FHISH TobS 1057 DEFloHos HYoSodk

Options :
Ammonia —> Nifrite - Nitrosomonas

| warasr —> JBEH - I FArTD
Nitrite —> Nitrate - Nitrobacter

IBE > PO - pETES
Denitrification - Thiebacillus
DJBECe - SATerHod
Ammomnification - Nirrosococciis
W3R 8080 - JETEED

Question Number : 56 Question Id : 1017174856 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Cyclomorphosis 1s a seasonal adaptation in certain animals to stabilize
the movement in water currents

Reason(R):  Typical morphs can resist the water currents better to stay in the water
rich in food materials

d3y%0 (A): 20 DI SN ABS® IO Q) %6§80:§3§%C§°5§§ S0 eed
§°Q) 2ohgen @HNErOT O Dd&d}:ﬁ)é“éo‘?@ B0t H80H wotrd

5600dm (R): &SS0rar draren a0Rarid) SNl ©i§ e Horage ACPAT 1A X6
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Options :

.
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Both (A) and (R) are correct. and (R) is the correct explanation to (A)
| (A) 308030 (R) &0 386380, 508050 (R) 288 (A) $ H83308 dSde.

Both (A) and (R) are correct. but (R) is not correct explanation to (A)

5 (A) 308030 (R) @0 386308, 570 (R) 200386 (A) £ 38508 D56 5°6%.
(A) is correct. (R) 1s not correct

; (A) 5853058, 570 (R) 505036 5.

(A) 1s not correct. (R) 1s correct
, (A) BOFHHE 570, 573 (R) H0FI6.

Question Number : 57 Question Id : 1017174857 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following and pick up the wrong one

808 wozen wEgoNdo VY, ST &HT'A) HJoFod
Options :
White matter of central nervous system contains myelinated neurons

1 SoBard Sg53 G008, Bewd) HTPos® $00dS Jird TE SoSHHen € 0ron
The narrow gap between the terminal fibre of axon and dendrite of next neuron 1s
called synopsis

SOBTED w0y S0HYH, SUd TG K0 BoondI DY Ko HrEy v
DIEPD WO
Ependymal cells keep the cerebrospinal fluid in circulation

DOBSS Serren oY DH (GBS §5O5S SFdydaron

w

A group of nerve cell bodies in central nervous system is known as nucleus
, BoSTa SgIgetd a8 Do Hrrd) SoBs0 woirdd

Question Number : 58 Question Id : 1017174858 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
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Study the following statements about adoptations of animals

(A) Protopterus shows anadromous migration to survive in sunmer

(B) Photoperiodism is the influence of light on velocity of movement

(C) Kangaroo rat uses metabolic water to survive on land

(D) "Mammals from cold climates have short extremities of body" 1s Allen's rule

£ wdhEroTot TodS 1§od woTen HBIOoLod

(A) Qo5 208" CE8H0 (DErgid oT@EHD SOD SrHH

(B) 508 83 Jod I Herago TR 508 5erSH Wolrdd

(C) Sorrdd dews g5t 25708 whHsreomr E58oHeT JBE B SHAPA0LEF0LN0E

D) 38oErod §éores® Bir D50 ermen HHIMT €0tron - IBY) JaHSo.

From the above. identify the correct statements
2 373 $0S wozred Hgowod

Options :

 AC
LB
, B.D
- G

Question Number : 59 Question Id : 1017174859 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
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Study the model of phosphorus cycle
I) RockMinerals

I) Producers

) Detritus

IV) Soil solution

V) Consumers

@%“3365 300500 SSora wFgoRso Fododk

) o8 pderen
) e&HaTdew
I @3

IV) 3085 (@@Se0
V) 29@rdcden

Identify the A.B.C.Dand E

2 H00e5° A.B.C,D. E o h8osod

Options :
1

a3

4

A —

PeTot &0

Litter fall
708 soe B8

CA-IV. B-V C-IIT1 D-OI E-I
A-I B-IV C-1 D-V E-II

; A-II B-V C-II D-IV E-I
A-IT B-V C-1 D-II E-IV

uptake

Run off

?é"&ééo

/

E@ogo,

Weathering

| — |O| < |N] < |W

Question Number : 60 Question Id : 1017174860 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Sphincter of Oddi regulates the flow of

@ H0I083 O PartA) V0HO@H06

Options :

Chyme from pyloric part of stomach into duodenum

| 866 IS STI0H0S D T woESreoss
Pancreatic juice from pancreas into duodenum
. B0 ook FH6r) wso@sroos®s

.
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Succus entericus from ileum into duodenum
5 3TOB80 $08 BOEET) BOEHTO0S*S
Pancreatic juice and bile juice into duodenum

i 5, pEgiTrod so@sSoreos s

Question Number : 61 Question Id : 1017174861 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Arrange the following in order of increasing volume

a) Tidal volume b) Residual volume
¢) Expiratory reserve volume d)  Vital capacity

Bod T Bdomr DS HoSresrs o IR 5865° wHhdodk
a) BES Tergo b) ©I33A HBS3re0
C) AFTD Qend HdIT00 d) 3Bé FSoggo

Options :

, d.c.b.a
, d.b.c.a
; b.c.d.a
c.b.d.a

4

Question Number : 62 Question Id : 1017174862 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

.
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Oxyhaemoglobin (% Saturation)

8
1

.........
.
L

.
- .-
.........
v *
..
.t

-------------

B 8 8 88 3 8 &

S

Study the above diagram. In the diagram

N = Oxygen haemoglobin dissociation curve

M = Left side shift of the curve

O =Right side shift of the curve

Identify the factors a. b, c. d. e and fin the graph.

B50a)-TRrFO0 IBreS Tpedd H020500S P DG Hrd) H03DoTod. Hros®

N = w§23-0rarfas IBr2s0e
M =3 JE303HS 2680
O =3 HH&IHB 2610

Q3¢GS g QEoes® a. b, ¢. d. € 508050 fsdsrodh Mmosod

Options :

s

Lo

a.d=Co0,

a,d=CO0,
a.d=Co0,
a.d:Co;
a.d=0,
a,d=0,

a.d=pH

" a.d=pH

b. e=Temperature : c.f=pH
b.e=&s . c.f=pH

b.e=pH . ¢, f=Temperature
b.e=pH G =iy

b. e=Temperature : c.f=pH
b.e=¢arg . c.f=pH

b.e=CO, . ¢. f=temperature
b.e=CO, . C.f=aEs

.
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Question Number : 63 Question Id : 1017174863 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Ischemia is a phenomenon of decrease in supply of blood to the heart
muscles

Reason(R):  Narrowing of blood vessels to the heart leads to 1schemia

AHEo (A): [ 08r ©I YBS® HOE Sodoredy 80 DEHT SHEos.
5650 (R): HoB% 652Q) d6H0° T JETeen adsHir sk Sod QoS
genrodo

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation to (A)

| (A) 500050 (R) o0 $0@850, 500050 (R) 9656 (A) 20508 56w,
Both (A) and (R) are correct but (R) is not correct explanation to (A)

) (A) 508030 (R) 20 506080, 570 (R) 28088 (A) % 30338 D560 5260,
(A) 1s correct. (R) 1s not correct

, (A) 30850, 53 (R) D006 5765

(A) 1s not correct but (R) 1s correct
i (A) 383G 57, 570 (R) 383088.

Question Number : 64 Question Id : 1017174864 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
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Study the following and choose the correct combinations

Colummn -1 Column - IT Column - I
A Factor VII Release of tissue Formation of thrombin
thromboplastin
B Warfarin Antagonistic to Prevents synthesis of
Vit-K Christmas factor
C Atrial systole Lasts about 0.1 Sec. Closure of AV valves
D Factor XII Hageman's factor Formation of
prothrombin activator

808 7D HB2O0D FBS* HBS DE¥DoDLD HJobok

S50 -1 600 - 11 S8 - 1T
A s=580 VII §eoe@0 S0 E°00S Yo
g0 PR DG
™60
B TE)OS D0l K % 85D s=d80 B0
DO HET500 Q600
C §0s° Ho8’So 0.1 D& So% 8§05 2605 Saréren
w000k S0
D 5880 XII TES 5850 @¥Em0dS erdudo I8k
Options :
1. 4%..{:‘
a2 B.C
1 AD
4 B.D

Question Number : 65 Question Id : 1017174865 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
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Read the following statements

(A) Counter current mechanism helps to concentrate urine

(B) Creatinine is an athreshold substance

(C) The descending limb of loop of Henle is permeable to Na™
(D) The ascending limb of loop of Henle is permeable to water

8o argpgodn H03dodok

(A) B8 Pardr o3ro@sdn g mESS DoHHod

(B) §0o5riilsS esbogfderd Hmrgo

(C) =3 385 ws6frado Nam woirdHos ardisgds Srosod
(D) =3 385 e8rordo A8 FOrRSgED SrHSHod

Choose the correct statements
2 783”0 wowen Hjowodk

Options :

| A&B
, B&C
; C&D
, A&D

Question Number : 66 Question Id : 1017174866 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The joint "Epiphyseal plate" present between Epiphysis and Diaphysis is a

DN PHD, BSrPHD g ol IHPBONS HE0 & EEIH8en

&

Options :

.
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-2

L

Syndesmose

A

Gomphose
Fod&
Synchondrose
VASTo|EE
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Symphysis

x Jdorso

Question Number : 67 Question Id : 1017174867 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following events about mechanism of hearing

A)
B)
C)
D)
E)

Bending of hair cells of basilar membrane
Generation of waves in fluids of cochlea
Pressing of tectorial membrane
Vibrations of tympanum

Ripple in basilar membrane

DV8E HIBoHE Bodd fod woFwd HdIDoSoR

A)
B)
C)
D)
E)

B0erd #0806 GPSrseren e
SrSG806°0) (Baree® voem wid
BEBOHS ¢S50 N6 2.8

§6830 o HEoHTen

Boerd #0806° OF) vweo

Arrange the above sequence

2 38 05 SOJEST) Yook

Options :

1. D-E-A-B-C

L2

D-B-C-E-A

+ DIERAL
. D-B-A-E-C

Question Number : 68 Question Id : 1017174868 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
@ collegedunias
India’s largest Student Review Platform



Match the following

List-1 List-1I
A)  Oogenesis I) Oxytocmn
B) Owulation I) Melanocyte stimulating hormone
C) Parturition IIl) Prolactin
D) Lactation IV) Follicle stimulating hormone

V) Luteinising hormone

808 T°IQ 2SHETHN
erde -1 e - 11

A)  wodasso

i

) e8RS

B) wo&&do I DodFpe QSwngBelol 6%
C) ©Bdd0 I) (@FerfsS

D) éﬁ*eﬁg@ V) @éﬁ?@éé 86°)0

V)  enéi3zofi H5%6°

The correct answer 18

HOGVY DI H50
Options :

A @B © D)
, I I IV V

(A) (B) <€ D)
5 I I 111 A%

(A) (B) ) (D)
s I\Y% V I I

(A) (B) (C) (D)

v v I i @ collegedunia;



Question Number : 69 Question Id : 1017174869 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following

A) Insecondary lymphoid organs the immuno competent T-cells are transformed into
cytotoxic T-cells and natural killer cells

B) Immunity developed by the antibodies that are released into the fluids of the body is
called humoral immunity

C) After getting into the body of person. HIV enters the macrophages and dendric cells
D) Bursa Fabricius of birds 1s a secondary lymphoid organ

Bod wosen wgoddo Tobok

A) 6g80%H dorond wioharodt 81 A6¢ & T-Seoren ¢5¢r§§ T-Serenmdy,
Dreiross Srenmd dsrton

B) @r@arod’s $austolh dkKe oo oo @S5 o8 &' AFEESSH TS
QBB &1 DB I8 WOt dd

C) HIV 5rd583:50e5°8 Hasowes S aEen, Bod§ S D808

D) 3% 207 F@V0HD &8 83805 doarond w500S0

Among the above. the wrong statements are
P WoT0S" SN &)

Options :

1 AB
B
3 D
L AD

Question Number : 70 Question Id : 1017174870 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The placenta of human beings is called

ISP, B0PANYH YO S§ITOLEH
Options :

Chorio allantoic. Discoidal. Haemochorial. Deciduate placenta
©QOEHTOH SEH, TATEO0HS, HEsoaing M collegedunia

1.



Chorioallantoic. Metadiscoidal. Haemoendo chorial. Non-deciduate placenta

, B0 Hooh, wosgls Y, TArE00HS, wHE070I0D)

-

Yolk sac. Metadiscoidal. Haemochorial. Deciduate placenta
, 0D, wodgiE s, TArEFO00S, HHe07000)
Chorio allantoic. Diffused. Haemochorial. Non-deciduate placenta

, BP0EHT 050, DBOL, FIrEO0HS, wHH:T030D)

Question Number : 71 Question Id : 1017174871 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Study the following and choose the correct combination about human reproduction

List-1 List-1I List- 1T
(A) Trophoblast Proteolytic enzymes Implantation
(B) Acrosin Acrosome reaction Corona penetrating enzyme
(©) Secondary Meiosis - I Large spermatid and
spermatocyte polar body
(D) | Placenta Somatomanunotropin Increased availability of
glucose to foetus

SRS (Hehgeh 88 BobhS §od wozre H03DoTod. FES* TS DEN0HOD HYoKod

erdie -1 e -11 erd)e - I
A) | e (FERBrBEE JoBaoe BSTHS
(B) JE*HD AEED DSBS §6° S 86A0T JoBw
(©) BRBa%H HE goso8des Dl - II g HEteBso,
S 58950 FYPBI0
(D) B0°0300) POPETHITYET DD Ars'E whHsom Howds
B0 0N 0o

Options :

 AE
o BE gcqllegedunias



, B.D
2 T

Question Number : 72 Question Id : 1017174872 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Read the following and identify the mismatch pair

Bod T w@goddo VD SO BSEPED ¢80 DYook

Options
Capacitation -  Changes in spermatozoa

) T3PgEdewo - DESwOS® Sra)ed
Compaction -  Contraction of ova

5 SploFv il ) - wodsn Jo8Wo
Menarche - The first menstruation

5 070y, - 206 0B B0
Amphimixs - Fusion of gametic pro nuclei

, BODMED - u8n (P oste Soons

Question Number : 73 Question Id : 1017174873 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Karyotype of a Drosophila 1s AAA+ XX 1t 1S

(@Foer BnE), 57003750 AAA+ XX wond vb

Options :
Female

L2
25
=
£A
A
E'_'u

s B30l £
Metafemale

.
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Question Number : 74 Question Id : 1017174874 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : In moths the sex of the offspring depends on the type of ovum that is
fertilized.

Reason(R):  Inmoths the females are heterogametic.

Ao (A): SrSee* dordgodo HoiEc00 BT ®ok 680 P SEHEE08
56250 (R): SrsSeest @ £ DA JoBrrdE e\ $80

Options :
Both (A) and (R) are true. R 1s the correct explanation for (A)

y (A) 508030 (R) en 383383, 308050 (R) @88 (A) $ 385308 dH5de.
Both (A) and (R) are true. R 1s not a correct explanation for (A)

: (A) 500050 (R) e H853082, 5020 (R) w88 (A) 8 508508 D58 5.
(A) 1s true but (R) 1s false

; (A) 503058, 50 (R) $050586 5.
(A) 1s false but (R) 1s true

4 (A) SBFI8 579, 572 (R) H0T&6.

Question Number : 75 Question Id : 1017174875 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Study the following statements about genetic disorders

(A) Phenylketonuria is caused by a mutation in the gene located on chromosome12

(B) InCooley's Anaemia the beta chain binds to RBC and damage them

(C) Cystic fibrosis causes increased resorption of Na and H, O from respiratory epithelium
(D) Individuals heterozygous to sickle cell trait always lead healthy life

2d0g WHYH LK TobD Bod woTen HBIHoTod

(A) 125 Fars'D 3 &od adgd) r)03ds HdSom HIS §e5*Srgdasr SenrhEhod

(B) 5rOD IANOSrS® Ltr Hoperen JFEEETroH WotnsI FEI TFSo BFon

(C) 2YPE PEO*DD S T¢I GHferserre H0d I8N FR0NO, M FSHhadk&Hobd

(D) 98G5 o508 DADOI0MEEY) EOAS Sgden J0HYd B HgEERE BIS Q)
[oTeS 29 Exilob)

From the above identify the correct statements

2 836" $0S woaren oS0k
Options :
i A1
» B.C
g B

, B.D

Question Number : 76 Question Id : 1017174876 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a population with two alleles 'B' and 'D' having allele frequency 0.7 and 0.3. In
Hardy-weinberg equilibrium how many individuals in a sample of 250 can be expected to
be heterozygotes (Bb).

2.8 aagrS® Mo Dok 050y JEwysTen B' 0805w Do oinr) dE0NE FrSiharge Jend
0.7 So6a50 0.3 5§ DJe§ addg Jd0eRd 500 250 2Trerd” dasainiEre Hopg
JOH?
Options :

, 52
, 105

21 M collegedunia
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Question Number : 77 Question Id : 1017174877 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) ;. Oversized antlers in the Irish deer lead to its extinction

Reason(R):  Darwinism explains the origin of new species is due to the accumulation
of adaptive variations.

d3go (A): 20D OMNT® @& DEF S50 59 YD BOBID
s26s5n (R): ‘@0gd @500’ wdired 3Ag7ge H00d Hersd 8o 8 adhen
QB0

Options :
Both (A) and (R) are true (R) 1s the correct explanation to (A)

’ (A) S508030 (R) e0 583082, 500050 (R) 205088 (A) $ 305308 dHde.
Both (A) and (R) are true. (R) is not a correct explanation to (A)

g (A) 3086050 (R) o0 383080, 520 (R) @088 (A) $ 50008 D500 s°6%.
(A) 1s true but (R) 1s false

, (A) 505088, 50 (R) 90g88 s6.

(A) 1s false but (R) 1s true
, (A) H0GHI6 5, 577 (R) D088,

Question Number : 78 Question Id : 1017174878 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The biomedical technique used to analyse skull fractures is

DO HHE) BenDEISETIS ¢IDTN0R EIJEY Fos8S IS0
Options :

EEG
, EEG

MRI Scan
, MRI& &
PET Scan

o 5
. PET 9.3 _
collegedunias



CAT Scan
i, CAT 3.

Question Number : 79 Question Id : 1017174879 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Match the following
List-1 List-1I
A) Shortened Q-T mterval I) Hypokalemia
B) Inverted T wave I) Tachycardia
C) Elevated S-T segment IM) Hyperkalemia
D) Shortened P-R interval IV) Hypercalcemia
V) Myocardial infarction
§08 T BEHHDHSN
e - erdia - 11
A) €595 o Q-T woddo D) Tr&Frsddnosr
B) &660as T $soifo ) ¢erésfosy
C) 8438 S-T podto ) 5756 s=ddoosr
D) &89 5m oz P-R wogdo IV) 3756 s=énose
V) SH@Brs=gohed add°68s

The correct answer 1s

DOGNS DITTES0
Options :

Aa ® © O

.V I m I
A @B © (D

Y I V I

L2

;
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a @ O O

D AN vV I
A @B (©) (D)

, N m @ Vv

Question Number : 80 Question Id : 1017174880 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the following statements regarding cancer

A) Retinoblastoma protein 1s a twmor SUppressor protein

B) P33 proteinallows the cell to enter the apoptosis when DNA damage is irreparable
C) Proto-oncogene mutations are recessive

D) P> protein plays key role in regulating G, check point

36 oo (§0d woTeH wFsoRnso BosEw0

A) BESerPSr O] S08 wdDS (@A

B) B)&8) DNA 5850y a26r8d8 P22 (&S $ean) (Heo7@8ass §e0 565008 983000
C) @8 36 5208 adog 80507 en ©odESHID

D) P38 G, 808 DothrHP> D0H0@oTE0S® DI Sirowdd

From the above. Identify the correct statements
2 S HBFN PO HZowrHm

Options :

. A&B
, B&C
, B.C&D
, AB&C

Display Number Panel: Yes
Group All Questions: No
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www.ndroid.previousquestionpapers.com | www.previousquestionpapers.com | www.ios.previousquestionpapers.com
Question Number : 81 Question Id : 1017174881 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If P. Q and R are physical quantities having different dimensions. then the following
combination never be a meaningful quantity

P. Q8o Rew 33563 Qeveniie FEETH0 oS & 8ol T SoTrHa0 @ééoé@_oé
ZHE03 580

Options :
R
1 R

B
PQ
»
PR
PQ
R+Q

L2

Question Number : 82 Question Id : 1017174882 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two trains P and Q each of length 400 m are moving along parallel tracks. in the same
direction with a same uniform speed of 20 ms™!. Driver of train P decides to overtake train
Q and accelerates his train by 1 ms=2. If the train P crosses the train Q in 50 s. then the
initial distance between the two trains was

28,8, 400 m & Ko P odoin Q o Bo B ((oroddiren) o8 35056 20 ms™
& 28 BIS" Jdrods Hpop Sdgamon. Poor @wg), @36, QBwed mhmds
(overtake) Aga o8 65 Beud 1 ms? &mo Fobowrd. PBen Q3end Teoms
50 s 3700 808008, & Bok 3¢ gy §O &rdo

Options :

, 450m
,» 800m

3 540 m
4 425 m

Question Number : 83 Question Id : 1017174883 Display Question Number : Yes Single Line Question Option @qulegeduma@


http://www.android.previousquestionpapers.com/
http://www.previousquestionpapers.com/
http://www.ios.previousquestionpapers.com/

Orientation : Vertical

.
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If a boat moves perpendicular to the bank of a river from a point A. it reaches a point C

which 1s at 120 m down the stream from a point B on the opposite bank in 10 minutes as
shown in the figure. If the boat moves with the same velocity at an angle o along AD upstream

it reaches the point B in 12.5 minutes. The width of the river and the angle o respectively
are :
(Line AB is perpendicular to the banks of the river).

2.8 38 .8 00adFS® ADHoMY 00 HOIrdHng) 2.8 HES, ¥ISD 2.8 B H0hI
00 Parrddes® 120 m Srdoes® Ho C 3 HodHd 10 darees® THH. Heaoes®
WD Do, HES ©f Jod® PHaritos 35808 HFST AD 93 5¢os® o S0 TD
Do HOSred R, wb B HohH& 12.5 ddvared® Dr&od. 36 Ideny 005w §eo

o SEHdm . B AB 25886 36 adiod wonom §odd).

B 120m (&

—_—
Raver ;
flow
_—

Options :

1.

2
£ v

3.

4.

100 m. sin~! (0.8)
200 m. cos™! (0.8)
300 m. tan~! (0.6)

300 m. cos™! (0.6)

Question Number : 84 Question Id : 1017174884 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Two forces simultaneously act on a particle by making an angle of 120° with each other. If
one of them is reversed. the acceleration of the particle becomes +/3 times. Then the ratio

of magnitude of forces 1s

ot weren wLETATEN 120° Soo [ o8 0o 2830 HIDRToW. FEST o
2y $388E BIS'S 518, §p0 Bk, 00 3 B ©HH08. Bond & U
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Abody starts with a velocity ‘u’ from the top of an inclined plane of length ‘L’ and an angle

of inclination 30°. The upper part of the incline of length — is rough and the remaining

-~

part 1s smooth. If the body slides down and reaches the bottom with the same velocity ‘u’.

then the coefficient of kinetic friction of the rough part of the incline is

L 28 508050 30° rew §odw Ko TP g0 pddn od ‘U’ 08" w8 S0P
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Question Number : 86 Question Id : 1017174886 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An object 1s placed at the top of a frictionless hemispherical metallic surface of radius
3 m. If the object is just disturbed. it will slide down and leaves the hemispherical surface
at a height of

3 mm,scfrgo Heo oS @gﬁ"gﬁs*d S rdeo 39T Do
S THT §600, @b =0 SENFE ) SO JEFD AR
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&&
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Options :
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Orientation : Vertical

A force (F) acting on a body varies with the velocity (v) of the body as F =£?_ where C is
i
a constant. Then the workdone by the force in “t” seconds 1s proportional to

o8 5509 Dot H3 b weo (F), & 559 Ko (V) D in,) T Srdsans. ag6 C
2
o386 8 Joofo @oNd T VEDLOS® oo WIS W _ % oS Srdhrdost
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Question Number : 88 Question Id : 1017174888 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A projectile 1s fired on a horizontal ground. The coefficient of restitution between the
projectile and the ground is “e’. The ratio of horizontal ranges in first two collisions with
the ground is

28 8§82 JErodd Swo & w8 HEIT) oK. HEITRE, s Jogy Hergdad
Ko ‘€ ol u S0P LrNd Jdn INGSE Todkd wIrddve §8= Jlrosy
TERYO G
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Question Number : 89 Question Id : 1017174889 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
The centre of mass of a system of three particles of masses 1g. 2g and 3g 1s at the origin of
a co-ordinate system. If a particle of mass 4 g and having position vectora(1+2_1+ak) 18
added to the three particle system. then the centre of mass of the four-particle system

becomes (1. 2. 3). The value of ‘0" 1s

Ig. 2g 500050 3 (ES5000 Ko §o 3558 B350 BoEim, 8 AErLE Sg5Y B,
Dreo Dok 5§ Pob. 4z 85508 Wdoe s v6¢ a(1+2]+3k) Ko Lnsnd ©
Do Sero SgI0% VYN, & Tood ferw ISP (BS55078 Soo (1, 2. 3) wondd.
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A girl with mass ‘m’ is standing at the edge of a merry-go-round having moment of inertia
‘T".radius ‘R’ and angular velocity ‘®’ as shown in figure. The gir] jumps off the edge of the
merry-go-round with a velocity ‘v’ with respect to the ground in a direction tangent to the
edge. The new angular velocity of the merry-go-round is

Sloos® @ Do, addr grdogo T, agrdo R Hockn Foch 3o ‘@’ Ko o8
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The potential energy of a particle of mass 5 mg executing simple harmonic motion along
X-axis is given by V(x) = (1.23) + (4.84)x2. where V(x) is in joules and X is in metres. The
frequency of oscillation of the particle is Hz.

X-0f0 Job BIFTTEE Jodo Dot 5 mg ESg078 Ho wf po BwE), Ps=iE
V(x)=(1.23) + (4.84)x% 28,¢ V(X) FHS® 500050 X dobde® Hamon. & Sobn B0,
Fod PI:PSgdw Hz.
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The period of revolution of an earth satellite close to the surface of earth 1s 90 minutes.
The time period of another satellite in an orbit at a distance of three times the radius of
earth from the earth’s surface will be

Brdo GIBSTTIE ST wd) For G0 DoE), JPENe wIS oo I0 Ao,
P @30F00 Dod Frd FEFTIS Jordidiy Srdod” Ko 58T wd) NI
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A simple pendulum with a uniform metal wire as the string has a time period T;. Young’s
modulus, length and area of cross-section of the wire are respectively Y. /and A. When an

" . : : L |
additional mass ‘m’ 1s added to the bob. the time period becomes T,. Then v s equal to

868 S'TY 8K TGS Ko &8 wdnS oo B8 Fsrdds sesn T &8 aoh
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A soap bubble has radius ‘R” and thickness d (<<R). It collapses into a spherical drop. The
ratio of excess pressure in the drop to the excess pressure inside the bubble 1s

28 D0y 2 argargadn ‘R’ Sodadn Hoodsdw d (<<R) 80A &o&. S 20dd HoNod
G5 DothoP™ Sr056. © (55 Do 5000 © oy WES Ko ©EsY bEssne
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A metallic pendulum clock shows 4 s more each day at 5 °C i winter and 12 s less at a
temperature 45 °C in summer. Then the coefficient of linear expansion of the metal in
terms of 1078 °C!

a8 S'FY S'of KGdirdo P88 x~ Fesreod’ 5 °C 5§ 4 s A& S 5080 IS’
5°C 38 12 s 8895 5erd) Srbs, & &Y By TgFS Hessn 108 °Clos®
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Ice starts forming in a lake with water at 0 °C. when the atmospheric temperature i1s—10 °C.
If the time taken for 1 cm of ice to be formed 1s 7 hours. the time taken for the thickness of
ice to change from 1 cm to 2 cm is (in hours)

~10 °C a8 SLES SS9k, 2.8 HEYS* 0°C 5& Ko D oW Sr&d)B.
1 cm Soodoes® S0ty ANEETAS T Hobe sTwo HEB, & Hoh>d 1 cm Hod 2 cm
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Options :
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The specific heat (c) of a metal at very low temperatures (T) is given by ¢ =aT +bT> where
a=0.01JkgK2andb=16x10"*J kg K=* The amount of heat energy required to increase
the temperature of 2 kg of the metal from 1 K to 3 K 15 mJ.

edgoy GBS (T) o 5§ el 'Y 3PJo (€) By, Bowogo ¢ =aT + b
Sc2808. 28 a=0.01 Tkg K258050 b=16x10*Tkg K™ 2kgo %o Gng),
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An ideal monoatomic gas is confined in a cylinder by a spring-loaded piston of area
of cross-section 8x10~= m?. Initially. the gas is at 300 K and occupies a volume of
2.4x1073 m? and the spring is in its relaxed state as shown in the figure. The gas is heated by
a small electric heater until the piston moves out slowly by 0.1 m. The final temperature of

the gas 1s

(The force constant of the spring = 8000 Nm!

Atmospheric pressure = 1x10° Nm™

The piston 1s massless and there is no friction between the piston and cylinder)

28 QEHEBreaE BEY) TeoHBo RYAE dito Tod Sudwso S0 wE drFrsd
FES® H0WFo B, Sndeso wiEE JTogo 8x107° M2 Indem & TS0
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The absolute temperature at which hydrogen molecules escape from a planet’s surface is
(‘m’ 1s mass of hydrogen molecules. ‘k’ is Boltzmann constant, ‘R’ is radius of the planet.
‘g’ 1s the acceleration due to gravity on the planet)
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The fundamental frequency of a uniform wire under tension is in resonance with the
fundamental frequency of closed tube. If the tension in the wire 1s increased by 8 N. it is in
resonance with first overtone of the same closed tube. The initial tension in the wire is

E558 SONS o8 DEOS B PS8 FH:YB50 JrdS FQOS® VGBS FEE FS:9Sg08*
SH0TE0S Ho)0. BHS' 83585 505 8 N DodSiyd, 08 Surdd FLos® 863
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The path difference between the two waves represented by X, :4sin(

x3=3cos[mt—

: 2nX 2
X, =4sm mt—T $080%x» X, =3c0s| ot —

&’DC’JS SRS

-

Options :
r(2n—0)
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A(m—20)
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A convex lens of focal length 9 cm is placed 10 cm before a screen. A glass plate
(u=1.5) of thickness 1.5 cm 1s inserted between the lens and the screen as shown in the
figure. To focus image of an object ‘O’ on the screen. the object must be placed at a distance
of x cm from the lens. Then the value of |x] is

9 cm Trergoddan o w8 Rorstd SLEdnd 88 Swodk 10 cm Sr850eg” Gowrd.
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In Young’s double slit experiment. intensity at a point on the screen is 1 th of the maximum

intensity. Then the angular position of this point is (A - wavelength of light. d - separation

between the two slits)
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Two non-conducting thin spherical shells of uniformly distributed charge of +10 nC each
and radus 1 cm each are placed with a separation of 5 cm between their centres. A positive
charge 0of 0.9 uC is placed inside one of the shells at a distance of 0.5 cm from its centre on
the line joining the centres of the two shells as shown in the figure. The net electrostatic

L

force on 0.9 uC charge is N. [ =9x10° Nm’ C—z]

47(60
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The bob of a pendulum of mass 50 g with a positive charge SuC 1s oscillating with a time
period Ty. An electric field of intensity 6.4x10* NC! is applied vertically upwards. Now

T
the time period 1s T, then the value of ?2 13 (g=10ms>)
1
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Two electric dipoles each of moment 5%107'? Cm form a symbol “+’ with their axes along
the co-ordimate axes. The electric potential at a point 20 cm away in a direction making an
angle of 30° with axis is

25§ 8 5x10712 Cm griodo Ko Dok JgE BggoTes T8 oFen AErdE ogo
Jod Goder wi + Nl (E°0)% 6 PTrow. wios 30° Fmo DX 8¥* 20 cm
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A parallel plate air capacitor with plate area “A’ and plate separation “d’ filled with three
dielectric materials of dielectric constants K;. K, and K5 is as shown in the figure. If the
three dielectric materials are replaced by a single dielectric material of dielectric constant
‘K filling the entire capacitor. the capacity remains the same. then

Hof IToghn ‘A’ Hodoin doe Sogy drdhn d e Wl Sdrodd Sufe md IFVLED
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AB is a uniform wire of length 1 m and resistance of 10 € as shown in figure. The length
*AO’ when galvanometer shows no deflection 1s

e

Qo D& 10 Q 5850 Ko 888 &K AB. HLINS® SrdodadSs. W@S(S‘boéaé’eﬁ‘
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A battery of emf 8 V and internal resistance 0.5 Q 1s being charged by a 120 V d.c. supply
using a series resistor of 15.5 Q. The terminal voltage of 8 V battery during charging is

0.5 Q w088 A5G0 oo 8V ddogmed wewo Ko of Hwdn 120V d.c 38H°B
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In Bohr model of Hydrogen atom. the electron revolves around the nucleus in a path of
radius 5% 10711 m at a frequency of 5x101 rev/s. The equivalent dipole moment is

(o8}

Sosgo oy DELB 5X10™ JoEiSerre FS:PHSgo® HoEISo THod. wond dog
B850 g0

&6 SorT B5do TERS SErandsSt o Jogs X107 m ag>do do Srdod’
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The force acting on a straight wire of length 10 cm carrying a current of 4 A in the +Z

direction due to a uniform magnetic field is ( —2i+2])N . If the wire 1s rotated so that it

carries a current in +ve X-direction. the force on the wire becomes (—?.\/5 ]+ 2k)N . The

strength of the magnetic field is T.

w8 D808 ©ohA o8 Yo Sod +Z &3S* 4 AJKgS ((5aS) 10 cm FED Ko w¥
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A bar magnet has coersivity of 6x10° Anr!. It is desired to demagnetize it by inserting
it inside a solenoid of length 15 cm and having 90 turns. The current that should be sent
through the solenoid is

a8 Sokodod) 080 6x10° Aml QErSs €08 &od. HID Q) 088G FoEoN
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A uniform magnetic field of induction ‘B’ is perpendicular to the plane of paper and into
the paper. A conducting rod AC of length *4/" is rotating about a point ‘O’ with a uniform
angular velocity ‘o’ in this field as shown in the figure. If AO = /. then the potential
diffference between the points ‘0" and *C” 1s
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A capacitor of capacitance 4 pF 1s charged to 100 V. The charging battery is then disconnected
and a coil of inductance 10 mH is connected across it. [Resistance of the coil 1s small and
negligible]. The peak value of current in the circuit is

4 UF 338 80aS 330085 100 V of es3380 TS w8, B3380 3&_;55) g8
Sotod 10 mH e8dgo do i o°d Do Sy §OIrd. (8 80
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Match the type of electromagnetic wave given in list A with its use given in list B

ListA ListB
a) Infrared 1)  Aircraft navigation
b) Ultraviolet 1) Treatment of certain forms of cancer
c¢) X-Rays ii1) Remote switches
d) Microwave iv) Lamps to kill germs in water purifiers

rda A SF zqé.’:sesc‘%éé Qdogdatodm o8 S8ol 85708, 2 B &° aésa:&é o
GADBPTRS 28DSToDw.

he A =N B
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The correct answer 1s
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Assertion (A) : Threshold frequency of a photo metal depends on the intensity of incident
light.

Reason(R):  Greater is the intensity of incident light. greater is the photoelectric
current.

Aso (A): P S0 Boof), slod FIYSgo HES 508 SBED BFdiddo.
50 (R): 288 5708 81538 805 &08, dE* LS RPTrdro Q85 Godos.

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)
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, (A) B85 (R) @0 Bodor $3:80 Sodosn (A) £ (R) &85 dhdee 57
(A) 1s true. but (R) 1s not true

" (A) $3886 579 (R) &858 5o
(A) 1s not true. but (R) 1s true

s (A) 3338 5750 572 (R) 338
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The radiation emitted when an electron jumps from an orbit of n=2to an orbitofn=11n
Hydrogen atom is made to fall on a metal surface with work function 1.2 V. The maximum
velocity of photoelectrons emitted 1s nearly

o) Kad&rm;’aé“ n=238gg $0b n=18E55 o8 JoFgS drsiHd Fwodd 508
SBoddglatsy DT, ©owd IwIE FE° JoFge

[
J
e
<
2R
29
s
QL
§
=
G
G
gja
G
G
g\
pe.
2A
G4

Options :
| 6x10° ms!

» 3%10° ms1

5 2x10° ms™

A 845 %105 ms™
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The half-life of a radioactive isotope ‘X’ 1s 20 years. It decays to another stable element
“Y". The number of atoms in ‘X" and “Y" are found to be i the ratio 1:7 in arock. The age of
the rock 1s

2.8 D& 88 Sorwo X ofddd sroo 20 Soddiren. @b Y’ el p8 SaroilSon
D0LS Todowd)B. .8 Tron Jodh X Hodosw Y d8Srendo g 117 wond & orow
2503089

Options :

40 years
40 SodSdoren
60 years
60 Soddoren

13

80 years
80 dodeoren
100 years

100 5o Eﬁeﬁﬂjﬁ“m

Question Number : 119 Question Id : 1017174919 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratio of minimum and maximum currents through the zener diode in the given circuit is

H008° TrDS Soahed® Ko BHE SBrE oo ©STod 95 Ho0ckw (8L eSS

RITo IS

2.5 KQ 5 KQ
VW VVWN—
90-120V /—(
= 50V
VWV VWW——
2.5 KQ 5 KQ

Options :

.
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Question Number : 120 Question Id : 1017174920 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An audio signal represented by 40 sin 37 (4000 ¢) 1s amplitude modulated by a carrier wave
90 sin 37 (9000 7). The percentage of modulation index of the modulated signal is

40 sm 37 (4000 1)  SoeDo JIEE Sc8erdy 90 sin 3w (9000 1) & Srdoh g
800 To° SoBd BOMS SrdogBas DoDETSH. SrdogBas SosEY IrdogBhs
PR T

Options :

| 4.44%

%

fad

—
e

=
Lok

=W
0, S0
=
.
=

fad

Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1017174921 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius (in nm) of first orbit of He™ is:

He™ @08, @@ §8g argargo (nm o7

Options :

, 0.0529 @cqllegeduniag



Question Number : 122 Question Id : 1017174922 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The kinetic energy of an electron is 4.55 % 1072 J. What is its wavelength (in nm)?
(mass of electron =9.1x10731 kg)

0.8 JOFES Bwg, (8248 4.55x107 I od S608¢ g0 (nm %) Jos?
(RoES B¥3go~3 =9.1x107 kg )

Options :

| 728
1850
896

L2

, 786

Question Number : 123 Question Id : 1017174923 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following electronic configurations represent the most metallic element?

oh

(0

& (808 Q@@TS DTS B WSO8 SPHErSo o HresTR) Hrowds?

Options :

| [Ne] 357 3p°
[Xe] 651
| [Xe] 652

, [Xe] 4114 5d10 652 6pl

Question Number : 124 Question Id : 1017174924 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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In which of the following set all molecules have equal bond order?

808 @ DS w) VeI VOFED0 dSFHoT GHH?
Options :

H>.He,. B>

G Ths, Oy

L3

Hg. sz.Bg

, 0.H,.G

Question Number : 125 Question Id : 1017174925 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The sum of number of & bonds and non bonding electron pairs 1S maximum in

G 20T 003N DOGHLE0S a@@js 2080 Jopge Ingo oM Hod

Options :

1. C02
el

o]

; CHy
CH,

Question Number : 126 Question Id : 1017174926 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

12 L of SO, gas diffused through a porous membrane in 20 minutes. Under same conditions
36 L of X gas diffused in 30 minutes. The molar mass of the gas ‘X" in g mol ™! is:

12 L SO, ar0o80s) a6 6 orgoe 20 dapareods® arghdo Bobod. o8 H0psheod® 36 L o
X 770509 30 ddareds® rghHdo Bodod. X a7osng Irerd (55073 g mol™! eres®;

Options :

, 64

32

3 16 @collegedunias
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Question Number : 127 Question Id : 1017174927 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In an organic compound containing C and H. the % C 1s 3 times to that of % H. What is the
compound?

C 558050 H e 8o &8 $6)S 3301855065° % C. % H $ Sorc Ben. s Had¢dsn 267?

Options :

, Cetl

CeHip
C,Hg

3

, CHa

L2

Question Number : 128 Question Id : 1017174928 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When one mole of manganese 1s burnt completely to form Mn3O,4 , at standard state
conditions. the amount of heat liberated is (AHf of Mn;0,=-1388 ki (fmol )

0.8 S SrorIRS Jrom $0809D), ST Q8 HOYSHOS? 1Vh1304( DO\ L
Sews &30 (Mny04 3%, AH; =—1388 kimol™)

Options :

, 624.67 KJ
462.67 kI
476.67 kI

L2

, 426.67 kJ

Question Number : 129 Question Id : 1017174929 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
gcollegedumas
India’s largest Student Review Platform



At 298 K. the equilibrium constant for a reaction A(g) +B(gy = C(g) + D(gy 15 100. If
the nitial concentration of each species 1s 1 M. the equilibrium concentration of D in

mol L 1is

298 K 3¢ (§0d I6g% ddoerd goroso dens 100.
¢ @ @
A +B) = C) + D)
828 @60g5 mEs 1 M wonsyond, D @y, $Heh8 mes mol L &°

Options :

| 0.818
1.818

1.3

1.182
3

, 0.182

Question Number : 130 Question Id : 1017174930 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At 27°C if the solubility product of M(OH); is 3.2x107!1, its solubility in gL' is
(molar mass of M(OH), 1s 58 g mol™)

27°C 5¢ M(OH), msdonha ogo 3.2x107! wonsyond o (@sdobs gl e
d0£? (M(OH), 3rers (55073 58 g mol™)

Options :

| 2x1074

1.16x10714

L-2

1.16%1072

; 5.8x1073

Question Number : 131 Question Id : 1017174931 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The number of hydrogen-bonded and co-ordinated water molecules present in hydrated
copper sulphate salt are respectively

TEBE 556 IBYH 05005060 TERS wohE 3000k D00 HBBTEI0H
200 2O WYL DOPZED SOOI

Options :

1.4
2.3

23

1

4.1

4. 0.5

Question Number : 132 Question Id : 1017174932 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statement from the following:

ol o7e3eS® HBGDS DT HJobod

Options :
Nitrates of all alkali metals give NO, and O, on heating
JRTHSH D oY) Fo5* e JBSe NO,. O; © JdTromw

Except LiHCOj5. all the hydrogen carbonates of alkali metals are obtained in solid
form

LIHCO; 2085 0ads grdstite TriEas so3dien ddrsdos® ofddpon

[}

Except LiCl. all the chlorides of alkali metals are deliquescent
LiCl 20855 nads geoe®ste §0Gen @) BInA8 Horgren

Carbonates of all alkali metals give CO, on thermal decomposition
®d) FOS° e 53 &3 IA3rH0 Bod COy & 2wy

Question Number : 133 Question Id : 1017174933 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
@ collegedunias



- . . . - .- +
In water orthoboric acid behaves as a weak monobasic acid giving H;O and

DBS® 5’508 w30 &8 S IrSBLE wHor HIYoSR. wb H30 & dren 33
DENGSE?

Options :

;. [B(OH)4]"

H,BO;

[BOH),

) H,BO3

Question Number : 134 Question Id : 1017174934 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gas common to both producer gas and water gas 1s

[@ErgH6 gD So00sn S g ToBodIS® GINAT &) TasnY

Options :

Question Number : 135 Question Id : 1017174935 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The concentration of nitrate 10n in drinking water if exceeds 500 ppm. it results in:

&0 O8e° IBE wosrd mES 500 ppm S @HEDNSH®, §OT HOLo;
Options :
Kidney damage

1 rEa0ETen S30WEo

.
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Laxative effect
D0WUH Perdo

Methemoglobinemia

HIFAHID ST
3. Z

Liver damage

oo T dS0
4

Question Number : 136 Question Id : 1017174936 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following structures represent 3-ethyl-4-methylhept-5-en-2-one?

806 Ao7errees” J6 3-a86-4-0FS TrR-3-6d-2-43%0 BenHH0H?

Options :

"

A
PR
Al
PR

4
Question Number : 137 Question Id : 1017174937 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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In the addition of bromine to ethene. the intermediate formed is:

SHIS BNI Boswdod AGYE Srdganso
Options :

Carbocation

SHOMEATOV O

Cyclic bromonium ion
S8aH R0 0 wosrd

Free radical

g (TBHOE
Carbanion
3 RO oS

Question Number : 138 Question Id : 1017174938 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The group which deactivates the benzene ring towards the electrophilic substitution but
directs the incoming group principally to 0 —and p — positions 1s

JOFHOF HEEHNS® BodS I00ITY) AGBeH0D, B30T SIS GBorSom

0 — 58050 P — FTred JPY0B JBrdro

Options :
;. —NH,
. —NO,
—CoHs
3.
—CI
4

Question Number : 139 Question Id : 1017174939 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Which one of the following relationships 1s correct for cubic (C) and thombohedral (R)
unit cells?

S (C) 0080350 dSro&Ey a’néagoéoﬁa (R) 0552085 D08 So0d0od) §obd Honogreres®
D8 HBFEH?

Options :
C R
1 azbzca=p=y a=b=c.a=pg=y=90°
| C R
i a=b=cia=p =y azbzcoa=p=y=90°
| C R
a=b=c.a=p=y=90° a=b = c.a=p=90°%y=120°
| c R
;. a=b=c;a=pf=y=90° a=b=cia=p=7 = 90°

Question Number : 140 Question Id : 1017174940 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is not correct?

806 rE3e® B HOGNSH 57 ?

Options :
For an ideal solution A,,;, H=0: A,,;,; V=0
vl D58 A, H=0:A,, V=0

mix

A mixture of phenol and aniline shows negative deviation in its vapour pressure
DTS, OO DEFSOSIN 23“°c1\<-u E5085° Hregre)§ HFOTR) BrHN

A mixture of carbondisulphide and acetone shows positive deviation in its vapour
pressure

. SHOFITR, VIO adFSw0 IGH0S” FTd)E 0T 1 @collegedunias
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Nitric acid and water mixture shows large positive deviation in its vapour pressure
and forms minimum boiling point azeotrope

W5 B0 A EF0 erRNES0eT whE FEITOTY) SrH EIPR PSS S¢
S007 JRAPETDD Y08

Question Number : 141 Question Id : 1017174941 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An aqueous solution freezes at—0.372 °C. If Kgand Ky, for water are 1.86 K kg mol™* and
0.53 K kg mol ™ respectively. the elevation in boiling point of same solution in K is:

w8 zoEdmo — 0.372 °C 3¢ SodefSdo Bodgiod. 08 Kg Ky o0 Sddne
1.86 K kg mol™, 0.53 K kg mol ! wons & @rseo BN T &8 K o

Options :

| 0.72
1 0.46

L2

5 4.6
, 0.106

Question Number : 142 Question Id : 1017174942 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The specific conductance of 0.01 M weak acid HA is 2.0<10~* S cm™. If its degree of
dissociation is 0.05. its limiting molar conductivity in S cm? mol™ is:

0.01 M 2oirs ss3y0 HA 233 arss 2.0x107* S cm L. o0 95088 @56 0.05 ©ond
0 ©IHE Jrerd arrEsio S cm? mol ™! &5° Jox?

Options :

, 400

300

. 200
, 40

Question Number : 143 Question Id : 1017174943 Display Question Number : Yes Single Line Question Optior - M~ Mn*icn

Orientation : Vertical
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Assertion(A) : Half life period of first order reaction 1s independent of concentration of
the reactant.

Reason (R): 99.9% reaction of first order reaction completes in 10 half lives.

Ao (A): BED ESrosS0g BN, Wgrodnd), Bosradto Bng mEs 2 wirdHEs
s ¢=0 (R): 99.9% ©ES> ESro8 Iy 8 wSirds 10 woingen HES0d

The correct answer 1s:
BOGE HIPG B0

Options :

(A) and (R) are correct. and (R) 1s the correct explanation of (A)

(A) 58050 (R) e 508082, 500050 (R) @886 (A) % 30508 dHde.
1.

(A) and (R) are correct. but (R) is not the correct explanation of (A)
(A) 58050 (R) o0 3863080, 570 (R) @088 (A) 8§ D058 D560 526,

-

(A) 1s correct but (R) 1s not correct
, (A8) 3056 50 (R) 80@oi6 5.

(A) 1s not correct but (R) 1s correct
, (A) 38338 570 570 (R) HBFIS.

Question Number : 144 Question Id : 1017174944 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements 1s not correct?

% 180D DSBS A6 HO WoNIE §°EI?
Options :
Plant latex 1s a colloidal solution of rubber particles which are negatively charged

300 8§ NNAEZETRI0 o Jend Swre Ferond ([PS00
L. =

Haemoglobin is a positively charged sol
TICPFAS T3 FS
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On prolonged dialysis the colloid is stabilized

6508 dosrddD HIE0H 0T Ferond PEEto Foeod
3 W = s

The process of settling down of colloidal particles 1s coagulation

Serond Seren @ wddh g8 VO POEHA BIEH K o880

Question Number : 145 Question Id : 1017174945 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The method of zone refining of metals is based on the principle of

P Dode FFES Z)cg@ej‘s cele DO5NL @ VODNS0 DG BFTEHE 0kS?
Options :

Greater mobility of the pure metal than that of impurity

HY 5708 NOTO $08 whHE Iodd 0B

Greater solubility of the impurity in the molten state than in the solid of metal

zné‘écg@ej‘s 5053 ﬁoé?@a@@"’ 00 %05t dTen QS 0N 0o

Higher melting point of the impurity than that of the pure metal

SHOT R HEF S0 LoB whE ((IFSS TS0 o

[

The low melting point metal 1s purified by this method
S80S (BALFSS FH0 ¥ STFY) & HEBS HG oSG
4.

Question Number : 146 Question Id : 1017174946 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

NaHSOy is reacted with NaCl at 823 K. The liberated gas 1s reacted with CasP> to form
CaCl, and X. Which one of the following is X?

823 K 5¢§ NaCl &° NaHSO4 5630808, ddcseonsd arasng) CazP, & S6gF ot CaCl,
5000350 X e A6 y@ow. Bob T8¢ X 6?
Options :

.
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PH,

- PCls

.
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| Pal

H,PO,
4

Question Number : 147 Question Id : 1017174947 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The correct order of boiling points of the given hydrides of 16® group elements is

16 3 (i) Srose TEED @S oo S0GHS ES50

Options :

H,O>H,Te > H,Se > H,S
HzTe = ste > HzS = Hzo

H,Te > H,Se > H,O > H,S

[N

Hzo > st = ste = H_f_)_Te

Question Number : 148 Question Id : 1017174948 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When xenon hexafluoride is completely hydrolysed a xenon compound ‘A’ is formed. The
number of & - bonds. 7 - bonds and lone pairs present on Xe in “A’respectively are

DR TrEPVES dodrd sedFano DHSHE A o dord BEESo A8)KS06.
3 o £3 m ) ®

‘A’ S c-wopre, T-20pren odcsn Xe D o wodd ade Jopgen SO

Options :

, 4.4.0

3.3.1
A1

42,0
4

Question Number : 149 Question Id : 1017174949 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The spin-only magnetic moment of an ion 1s 3.87BM. The ion is

3 3 g collegedunia
2,8 @03rs |Poe0-espdd wahar o8 grdoso 3.87BM. & ©08rsd @g



Options :

TjE-I-

7
Co-"

[

24
Cu

2+
A Mn

Question Number : 150 Question Id : 1017174950 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Structure of 1,05~ has

92— 5 LiiE
Cr,07 Q070d0e° )b
Options :
Two tetrahedra sharing one corner

2,8 365080 HoLHBN) Body BErrerEae

Two tetrahedra sharing one edge

2.8 20N HoWEN) Bok BIEr B

Two tetrahedra sharing one face

2,8 DO HowBY) Totdy BErir@Em

w

Irregular octahedral

Eord elSndoo
4

Question Number : 151 Question Id : 1017174951 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The monomers required for the formation of melamine polymer are

DOPT FOHNG YEETIE ©SHEHDYy IPFHS

~

Options :

.
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OH

If
H-C-H
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_ YNI " HC-H

OH
CH=CH,

3.
@)
O-N NO
N ) I
N\',N
NO;
4,

Question Number : 152 Question Id : 1017174952 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the heterocyclic bases present in DNA from the following
a) 5—Methyl-2.4—dioxy pyrimidine

b)  2.4-—dioxy pyrinudine

c) 2-—oxy—4-aminopyrimidine

808 a70e5® DNA S0 i derédeodH groeos mHhosod

Q) S—235—2.4—-3 s§20083
a_ a_ oo
b) 2.4-3 =§H0083
o [y
c) 2-28—4—-JdNITH0NES
Options :
a.b
L
a. C
2.
b.c
3.
a.b.c
4

Question Number : 153 Question Id : 1017174953 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Which one of the following is hypnotic?

BB T35 SrR3s Q6?7

Options :

L2

Amytal
aalates
Ramitidine

& =
Dwddza

Dimetapp
Gérs
Aspirin

estnN O
b

Question Number : 154 Question Id : 1017174954 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify an analgesic from the following

o8 TES" ITSEDES Hbo

Options :
—NCH;
HO 0 OH
L.
O
I
NH
-~
5
A
o "o

L2
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www.android.previousquestionpapers.com | www.previousgquestionpapers.com | www.ios.previousgquestionpapers.com

z~z4§0
1 - : ;———N
3
N(CH;),
N_ .
i
Cl :
NP
4

Question Number : 155 Question Id : 1017174955 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements from the following

a)  Dichloromethane is used as a solvent

b)  Freons are used for refrigeration

c) CCly causes depletion of ozone layer

d)  Electrophilic substitution reactions of halobenzenes occur faster than those of benzene

Bod e3¢5 HBA IICON HYoWodk

a) REENFIL rSBr TdEe®d

b) ©orsedH dREBASS® TS

) CCLALES &6 SHE0E 5650

d) FSBodSH® IOFDOE HSFH0 SGgen BoED K0T BiiS0m 2D

Options :

b.c.d
c.d

=]

a.b,c

4 d. C

Question Number : 156 Question Id : 1017174956 Display Question Number : Yes Single Line Question Optiol collegedunia:
Orientation : Ve rtical India’s larqest%:denl Review Platk)rme
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Identify the reaction conditions for the following reactions.

Bo& S6gwdy Iorg HOYH O HYoTOR

2
o
()
v
oy
Q

0
r.5
o
13
oy,

v

4
o
Z,
&

NO, NO,
Options :
A B
) NaOH/443K i) NaOH/623K
i) pe i) @
1.
A B
i) NaOH/443K i) NaOH/368K
i) HY i) HY
A B
) NaOH/368K i) NaOH/443K
i) H® iy H
3.
A B
i) NaOH/623K i) NaOH/368K
i) B iy I

Question Number : 157 Question Id : 1017174957 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following
8o 780 2EHEDN

List-1
(Name of the reaction)

ed)a - |

(S6g D)

a) Reimer-Tiemann reaction
B505-8505 363

b) Fittig reaction
2K S5

¢) Etardreaction
laleRinlely

d) Sandmeyer reaction
Fo&k FoDb Wy

The correct answer 1s

HOTHE HAPEHB0

Options :
a b C d
v 1 i 1

List-1I
(Major product)
e - 11

(B &dHo)

D (0)<0)

;
@ collegedunias
IIIII 's largest Student Review Platform



www.android.previousquestionpapers.com | www.previousgquestionpapers.com | www.ios.previousguestionpapers.com

a b C d

3 11 1 v 111
a b c d
, 1 i1 v

Question Number : 158 Question Id : 1017174958 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ,
— Oxi1me Q 5%

B
— Semicarbazone ?J&DS“CS&)@?'S

In the above reactions A and B respectively are

) 115(58@@55 A. B oo S36dm

Options :

H,N-CH;. H,N-OH

H,N—NH,. NH,—NH-C4H;

2
=

H,N-NH-CO-NH,. NH,—OH

(o)

H,N-OH. H,N-NH-CONH,

Question Number : 159 Question Id : 1017174959 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The correct order of the groups —CN (a).—Cl(b).— CF3 (¢) and—NO; (d) in increasing the
strength of a carboxylic acid. when they are bonded to o - carbon of carboxylic acid
separately 1s

500808 ©50e5°0 a-56)d% —CN (a), —Cl(b). —CF3 (¢). = NO; (d) dorsten H&m
20HEFIH D, 510#33,33@5 WH) ) D0DE0S® 73 HOTY E0o

Options :

a<b<c<d @collegedunias

1.
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d<a<b=sc

2
g ha<d=<c¢

bsxsd=sa<e
4

Question Number : 160 Question Id : 1017174960 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements are correct?
1)  Theactivating effect of -NHCOCHj5 1s more than that of -NH, group
11) N -ethylbenzene sulphonamide is soluble in alkaline solution

1i1) Aniline on reaction with concentrated H,SO4 followed by heating to 453 - 473 K
with concentrated H,SO,4 gives p-aminobenzene sulphonic acid

1v)  Alkylisocyanide on reaction with HgO gives alkyl isocyanate

Bob TE3IS* DD HOGHS DHGe0eN?

1) -NHCOCH; &82¢ Herdo —-NH, Hdr:ro 08 893

ii) N-&36 B0éd SSHIDE FOEH00S* §6hh&08

i) JAOI5 ¢ HoSOy & 65 2300, doges 453 - 473 K 5¢ s HySO4 &° 36TY
P-I0T BoES HSHIE o G)BS0s

V) ©5 & odoHa& HgO & $6gT0b w8 & adFdohdh 26)6H308

Options :

1 1.11. 1V
i1l iv

. 11, 1i1. 1V
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